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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 7188 2.4 1 3 80.3 99.7
2 7178 1.6 0.8 2 79.8 99.6
3 7026 1.7 1.6 4 43.1 97.5
4 6737 2.2 1.8 4 54.2 93.5

5a 7011 2.9 1.6 4 71.5 97.3
5b 7105 1 1 2 48.8 98.6
5c 7198 1.6 0.7 2 78.7 99.9
6 7042 4.2 2.2 6 70.3 97.7

7a 6400 0.4 0.5 1 42.9 88.8
7b 6913 2.7 1.9 6 45.8 95.9
7c 6699 0.8 0.4 1 81.5 93
8 6949 3.2 2.7 6 53.8 96.4
9 6777 2.1 1.2 3 70.1 94

10 6865 1.9 2.1 5 38.7 95.3
11a 6439 1.5 1.4 3 49.4 89.3
11b 6046 2.6 2.1 5 52.2 83.9
12a 7106 1.6 1 4 39.4 98.6
12b 6773 0.8 1.1 3 25.9 94
13a 7089 0.7 0.5 1 65.7 98.4
13b 6673 1.1 1.1 3 36.4 92.6
13c 6365 0.7 1.2 3 22.7 88.3
14a 6273 3.1 2.7 6 51 87
14b 4677 0.9 1.3 3 29.8 64.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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10. Appropriate use of 12 and 2 in the AER 
formula 
Sight of 0∙0385 and 0∙0386 
(AER Bannau =) (1+0∙0385/12)12 – 1 
OR (AER Eryri =) (1+0∙0386/2)2 – 1 
 
(AER Bannau =) 0∙0391(866…)  or 0∙0392 
OR  3∙91(866…) % or 3∙92 % 
AND 
(AER Eryri =) 0∙0389(724…)  or 0∙0390 
OR  3∙89(724…) % or 3∙9(0) % 
AND 
Correct statement e.g. ‘Bannau offers better 
annual rate of interest’ 


B1 
 


B1 
M1 


 
 


A2 
 
 
 
 
 
 
 


 


Denominators AND powers 
 
Or 3∙85/100 and 3∙86/100 
 
 
 
Do not accept 0∙0391(866…)% or 0∙0392% 
Do not accept 0∙0389(724…)% or 0∙0390% 
A1 for either correct AER 
 
 
 
 
If no marks awarded, 
SC2 for comparing correct end of year 
amounts (amount × 1∙0392, amount × 1∙0390) 
with a correct conclusion 
SC1 for calculating the correct end of year 
amount for one account 
 


 












	



B1 only for correct use of 12 and 2 in the AER formulae.












	



Fully correct response here, correctly calculating the AERs for both accounts and stating that the Bannau account would offer the better interest rate












	



This candidate makes an error in their method for the Bannau account. But the correct method and decimal for Eryri results in the following marks. B1 for correct use of 12 and 2. M1 for the correct method for Eryri and A1 for the correct AER for Eryri.
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10.	 Fatima wants to invest some money in a savings account.
	 She has picked up leaflets from two building societies advertising their high-interest savings 


accounts.


	 By comparing AERs, which account will offer Fatima the better interest rate on her investment?
	 You must show all your working.	 [5]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


‘Bannau’ account
Nominal annual rate of


3∙85%


Interest paid monthly


‘Eryri’ account
Nominal annual rate of


3∙86%


Interest paid every
6 months












	






























11.(b)  
(Area ¼ circle =) 7∙065 to 7∙1 (cm2) OR 9π/4 
(Area sector =) 50


360
× 𝜋𝜋 × 52 


   = 10∙9(027…) to 10∙91  OR  125π/36 (cm2) 
(Surface area of badge =)  


7 ∙ 06 … + 10 ∙ 91 …−
50


360
× 𝜋𝜋 × 32 


                                       (3∙925 to 3∙9275) 
 
  = 14∙0(427…) to 14∙1    OR    161π/36 (cm2)   


 
B1 


 


M1 
 


A1 
 
 


M1 
 
 


 
A1 


 
 
 
 
 
 


 
 
 
 
 


 
May be implied in further working 
 
 
May be implied in further working 
 
 


FT ‘their 7∙06…’ and ‘their 10∙91…’ provided 
previous M1 awarded 
 


 
Needs to come from values that are correct to 
at least 1 decimal place 
 
Alternative method: 
B1 for ( 20


360
× 𝜋𝜋 × 32) 1∙57 to 1∙571   or π/2 


(cm2) 
                   (may be implied in further working) 
M1 for 50


360
× 𝜋𝜋 × 52 


A1 for 10∙9(027…) to 10∙91 OR 125π/36 (cm2) 
M1 for 10 ∙ 9 … + (2 × 20


360
× 𝜋𝜋 × 32) 


FT ‘their 10∙9’ and ‘their 1∙57’ provided 
previous M1 awarded 
A1 for 14∙0(427…) to 14∙1 OR 161π/36 (cm2) 
 












	



This candidate gives a correct method and answer for the area of the sector. M1A1 for pi x 5 squared divided by 7.2 leading to an answer of 10.9. No other marks were gained.












	



M1A1 for area of sector (10.9). B1 for area of quarter circle (7.1). However, the method shown is incorrect, so no other marks.












	



This candidate gives a fully correct response for 5 marks.
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Diagram not drawn to scale


	 (b)	 The other part is in the shape of a quarter-circle of radius 3 cm.


3 cm 3 cm












	












	












	












12.(a) Sight of 805 (cm)  or  405 (cm) 
 
(805 × 405) + (405 × 400) 
OR a consistent attempt at converting these 
into metres 
                              
 
                         = 488 025 (cm2) 
 
 
 
 


B1 
 


M2 
 
 
 
 


A1 
 
 
 
 


Do not accept 804∙9 or 404∙9, but allow 804∙9 
recurring or 404∙9 recurring 
FT their upper bounds 
M1 for 805×405 + (400<n<405 × 405) 
(Note: use of 805×405 + 405×405 leads to 
490 050) 
 
OR  48∙8(025) m2. Allow 488 000 (cm2)      
CAO. Ignore attempts to convert into m2. 
 
Alternative method: 
M2 for 8052 − 4002 
Allow M1 for 8052 – (395<n<400)2 
A1 for 488 025 (cm2) 
CAO. Ignore attempts to convert into m2. 
 












	



This candidate shows a fully correct method and answer. B1M2A1.












	



B1 for sight of 805 or 405. M1 805 squared - 395 squared. They should have subtracted 400 squared. Then A0.












	



B1 for sight of 805 or 405. M1 for (805 x 405) + (405 x 405). The second bracket should have been (405 x 400). Then A0.
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12.	 A plan view of Lowri’s garden is shown below.


400 cm


400 cm


800 cm


800 cm


Diagram not drawn to scale


	 All the measurements are correct to the nearest 10 cm.


	 (a)	 Calculate the greatest possible area of Lowri’s garden.	 [4]


	


	


	


	


	


	


	


	











